REPRODUCE LOCA	ALLY. Include form nun	ber and date on all	reproductions.		SUN	MARY OF INFO	RMATION COLLEC	TION				Pag	e 1 of 27
							TITLE OF INFOR	MATION COLLECTION	ON DOCUMEN	IT		OMB NO.	
							National Rese	arch, Promotion,	and Consum	ner Information F	Programs	0581-0093	
												DATE PREPA	RED
												July 9	, 2020
IDENTIFICA	TION OF REPORTING O	RECORDKEEPING	REQUIREMENT			-			ANNUAL BU	RDEN			
								REPORTS				RECORDS	
					FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	TOTAL RECORD-
SECTION OF REGS.		DESCRIPTION			(If "none" so state)	RESPONDENTS	RESPONSES PER	RESPONSES (Col. D x E)	PER RESPONSE	HOURS (Col. F x G)	RECORD- KEEPERS	HOURS PER RECORD-	KEEPING HOURS (Col. I x J)
					30 State)		RESPONDENT	(COLD X L)	RESPONSE	(601.1 × 6)	KEEP EKS	KEEPER	(COI. 1 × 3)
(A)		(B)	1		(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)
	DESIGNATED ASSESSMENT		OR MON	THLY		0.00	0.00	0.00	0.00	0.00			0.00
1218.60	Blueberry (First	Handler Repo	rt)		BLU-FHR	80.00	1.00	80.00	0.50	40.00			0.00
1218.60	Blueberry (Grov	ver Report)			BLU-GRF	2,000.00	1.00	2,000.00	0.50	1,000.00			0.00
1260.311(f)	Beef (Producer (Consent to Fun	d) NEW		LP-2	500.00	1.00	500.00	0.08	41.50			0.00
1260.201	Beef (Certificati Cattle Assessme		Directed P	ayment of	LP-9	10.00	5.00	50.00	0.20	10.00			0.00
1260.172(a)(5)	Beef (Monthly F and Marketed)			urchased	LP-10	5,000.00	12.00	60,000.00	1.00	60,000.00			0.00
1260.172(2)	Beef (Private Tr	eaty Sales Che	ckoff Inves	tment)	LP-104	12,000.00	1.00	12,000.00	0.03	360.00			0.00
1260.181	Beef (Producer I Assessments)		Checkoff		QSBC-1	100.00	1.00	100.00	0.08	8.30			0.00
1205.331, 334, 335, 336, .511, .512, .514, .51 6, & .531	Cotton (Collecti Form Number A		port) (Paper '	Version)	CB-1	214.00	7.00	1,498.00	0.50	749.00			0.00
1205.331, 334, 335, 336, .511, .512, .514, .51 6, & .531	Cotton (Collection burden included with	ng Handler Rep 1 paper version)	port) (Electro	nic version,	No Form Number	0.00	0.00	0.00	0.00	0.00			0.00
1205.530	Cotton (Cotton H Report) (Paper Ve				CB-4 R1	512.00	1.00	512.00	0.50	256.00			
1205.530	Cotton (Cotton H Report) (Electronic version) NEW				No Form Number	0.00	0.00	0.00	0.00	0.00			0.00
			SU	BTOTAL			30.00	76,740.00	3.40	62,464.80	0.00		
			AL OF ALI					353,934.47	50	131,260.73	66,461.00		16,678.56
ТОТ	AL - COLUMN COLUMN	5 "F" AND "I S "H" AND "						420,395.47		147,939.29			

REPRODUCE LOCA	DUCE LOCALLY. Include form number and date on all reproduc				SUN	IMARY OF INFO	RMATION COLLEC	TION		Dee	- 2 - 4 2 7
KEI KODUUL LOUA	DUCE LUCALLY. Include form number and date on all reproduct				301	MARI OF INTO	IMATION COLLEC	11011		Pad	e 2 of 27

INSERVENIONS?	Selfis forlude/nem avsnikgn	endroatkan oll e	enection and involves the second s	ves multiple report	MARY OF INFO	MATE OF REGA	MATION COLLECTION		т	1	омв моРас	e 3 of 27
	nents. The totals of the fi pondent is only counted o				cols.	National Rese	arch, Promotion,	and Consun	ner Information F	Programs	0581-0093	
(J)Average NOTE: The columns as "1/6" & decimal wil	will calculate automatical	., .	(H)Total/(F)Total = (C response is something oth	, , , , ,							DATE PREPA	RED
IDENTIFICA	TION OF REPORTING OR RE		REQUIREMENT		-			ANNUAL BU	RDEN		July 5	, 2020
					-		REPORTS				RECORDS	
												TOTAL
				FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	RECORD-
SECTION OF		DESCRIPTION		(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS
REGS.				so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)
(4)		(B)		(0)	(D)	RESPONDENT (E)		(0)	(H)	(1)	KEEPER	
(A)	DESIGNATED H. ASSESSMENT RI	ANDLERS		(C)	0.00	(E) 0.00	(F) 0.00	(G) 0.00	(H) 0.00	(1)	(L)	(K) 0.00
1205.516	Cotton (No Cotton signature only)	Purchased R	eport) (No burden,	No Form	0.00	0.00	0.00	0.00	0.00			0.00
1150.171	Dairy (Producer Mo Report)	onthly Repo	rt and Remittance	DA-20	634.00	12.00	7,608.00	0.50	3,804.00			0.00
1160.401	Dairy (Processor M Report)	onthly Repo	ort and Remittance	DA-20R	212.00	12.00	2,544.00	0.50	1,272.00			0.00
1250.519	Eggs (Statement of (No burden determined; payments)	Delinquent Used to show of	Handler Accounts) Dutsanding assesment	No Form	0.00	0.00	0.00	0.00	0.00			0.00
1250.347, .349, .352, .51 5, .516, & .529	Eggs (Collecting H Assigned	andler Repo	rt) Form Number	LP-6	159.00	12.00	1,908.00	0.16	305.28			0.00
1250.528	Eggs (Collecting H Form Number Assi		stration Statement)	LP-5	2.00	3.00	6.00	0.16	0.96			0.00
1219.60(b)	Hass Avocado (Firs	st Handler R	eport)	AVO-FHR	20.00	12.00	240.00	0.50	120.00			0.00
1212.70	Honey (First Handl	er's Report)		HON-FHR	50.00	12.00	600.00	0.50	300.00			0.00
1212.70	Honey (National He Questionnaire) N		Confidential	HON-HIQ	886.00	1.00	886.00	0.25	221.50			0.00
1280.217, .218, .219, & .220	Lamb (Remittance	Report)		LP-81	500.00	12.00	6,000.00	1.00	6,000.00			0.00
			SUBTOTAL			76.00	19,792.00	3.57	12,023.74	0.00		0.00

REPRODUCE LOO	CALLY. Include	e form number c	nd date on all r	reproductions.		SUN	MARY OF INFO	RMATION COLLEC	TION				Paç	e 4 of 27
INSTRUCTIONS: recordkeeping requir							ing and cols.	TITLE OF INFOR	MATION COLLECTIO	ON DOCUMEN	IT I		OMB NO.	
(D) &/or (I) = $13a$ (re					cols. H & K		cois.	National Rese	arch, Promotion,	& Consume	r Information Pro	grams	0581-0093	
	(F)T	otal/(D)Total	= (E)Average	e (H)Total/(F)Total = (G	Average (K)T	otal/(I)Total =							
(J)Average NOTE: The column													DATE PREPA	RED
as "1/6" & decimal w		automatican	y. II COI. E S	response is so	intenning othe	i tildii diilitudiiy, i.	.e., 1/0 years, list						July 9	, 2020
IDENTIFIC	CATION OF REPO	ORTING OR REC	ORDKEEPING	REQUIREMENT	-		1			ANNUAL BU	RDEN		July 5	, 2020
									REPORTS				RECORDS	
														TOTAL
						FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	RECORD-
SECTION OF REGS.	_	1	DESCRIPTION	1		(If "none" so state)	RESPONDENTS	RESPONSES	RESPONSES (Col. D x E)	PER	HOURS (Col. F x G)	RECORD-	HOURS PER RECORD-	(Col. I x J)
REGS.						su sidie)		RESPONDENT	(COI. D X E)	RESPONSE	(COI. P X G)	REEPERS	KEEPER	(C01.1 x 3)
(A)			(B)	1		(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)
		ATED HA			THLY		0.00	0.00	0.00	0.00	0.00			0.00
	ASSESS	MENT RE	PORT (co	ont'd.)			0.00	0.00	0.00	0.00	0.00			0.00
1206.42	Mangos (First Hand	ler's Repor	t)		MAN-FHR	3.00	12.00	36.00	0.50	18.00			0.00
1209.260	Mushroo	ms (First H	andler Rep	oort)		MUS-FHR	80.00	12.00	960.00	0.50	480.00			0.00
1222.52	Paper (M	anufacture	r/Import Qi	uarterly Re	port)	PAP-PIQ	70.00	4.00	280.00	0.50	140.00			0.00
	1 1		1 0	5										
1216.60	Peanuts (First Handl	er Report)			PEA-FHR	24.00	12.00	288.00	0.50	144.00			0.00
4045.00		(O)]]				DOD EUD		1.00	07.00	0.50	10.00			
1215.60	Popcorn	(Quarterly	Report)			POP-FHR	23.00	4.00	92.00	0.50	46.00			0.00
1203.71(b)(3)	Pork (Por (same repor	rk Promotic rt used for Mo	on Investme onthly & Quar	ent Report- terly reporting	-Monthly) g)	LP-101	1,000.00	12.00	12,000.00	1.00	12,000.00			0.00
1203.71(b)(3)	```	rk Promotic) (same repo		1		LP-101	1,000.00	4.00	4,000.00	1.00	4,000.00			0.00
1207.350		(Designate	d Handler I	Report)		POT-FHR	603.00	12.00	7,236.00	0.50	3,618.00			0.00
1217.52	Softwood Report)	l Lumber (S	Shipment/In	mport Quai	terly	SWL-SIQ	255.00	4.00	1,020.00	0.50	510.00			0.00
				SU	BTOTAL			76.00	25,912.00	5.50	20,956.00	0.00		0.00
									-					

REPRODUCE LOO	CALLY. Include	form number c	nd date on all r	eproductions.		SUM	IMARY OF INFO	RMATION COLLEC	TION				Pac	e 5 of 27
													,	
INSTRUCTIONS:	Use this form w	when a single	information c	ollection doc	ument involve	es multiple report		TITLE OF INFOR	MATION COLLECTIO		т		OMB NO.	
recordkeeping requir (D) &/or (I) = 13a (re	espondent is on	ly counted or	ice); cols. F &	I = 13b;	cols. H & K	= 13c.	cols.	National Rese	arch, Promotion,	& Informatio	n Programs		0581-0093	
(J)Average	(F)Te	otal/(D)Total	= (E)Average	(H)Total/((F)Total = (G)	Average (K)T	otal/(I)Total =						DATE PREPA	RED
NOTE: The column as "1/6" & decimal w		automaticall	y. If Col. E's	response is so	omething othe	r than annually, i.	e., 1/6 years, list							, 2020
IDENTIFIC	CATION OF REPO	RTING OR REC	ORDKEEPING	REQUIREMENT	г					ANNUAL BU	RDEN		Julys	, 2020
							-		REPORTS				RECORDS	
														TOTAL
						FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	RECORD-
SECTION OF	_		DESCRIPTION		1	(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS
REGS.						so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)
								RESPONDENT					KEEPER	
(A)			(B)			(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)
			NDLERS PORT (co		THLY		0.00	0.00	0.00	0.00	0.00			0.00
1221.116		Sorghum (Report and Remittance of Amount Collected and Due on Sorghum Purchased)				LP-378	1,850.00	12.00	22,200.00	0.25	5,550.00			0.00
1220.223	Collected Users with f	Collected and Due on Sorghum Purchased) Soybeans (Report and Remittance of Amount Collected and Due on Soybeans Purchased) (LP-46- Users with first time recordkeeping systems; & LP-46-1 first time purchasers that cannot supply information required on primary remittance form)				LP-46 or LP-46-1	5,000.00	4.00	20,000.00	1.00	20,000.00			0.00
1220.228			Redirection beans) N		off	QSSB-1	10.00	1.00	10.00	0.08	0.83			0.00
1210.350	handlers/pro	on (Desigr oducers need d) Paper vers	nated Handl to be added, a ion.	lers Report supplementa) (If new l page would	WAT-FHR	300.00	4.00	1,200.00	0.75	900.00			0.00
1210.350	Watermel version) Bui	on (Desigr rden accounte	nated Handl ed for under pa	lers Report aper version.) (Electronic	WAT-EFH	0.00	0.00	0.00	0.00	0.00			0.00
	Border Prote	ection collect	formsPer A s the informat tion to Boards	ion at the por		No Form	0.00	0.00	0.00	0.00	0.00			0.00
	REFERE	ENDUM B	ALLOT				0.00	0.00	0.00	0.00	0.00			0.00
1260.000		lot and Env ie.) NEW	velope) (Bu	rden hour is a	placeholder	LP-32	0.00	0.00	0.00	0.00	1.00			0.00

REPRODUCE LOCALLY. Include form number and date on all reproductions.	SUN	IMARY OF INFORMATION COLLECTIC 21.00		2.08	DC 4E1 00	0.00	Page 6 of 2700
SUBIUTAL		21.00	43,410.00	2.06	20,451.05	0.00	0.00

REPRODUCE LOO	CALLY. Include form nur	nber and date on all r	eproductions.		SUM	MARY OF INFO	RMATION COLLEC	TION				Pa	e 7 of 27
	Use this form when a sizements. The totals of the					ing and cols.	TITLE OF INFOR	MATION COLLECTIO		г		OMB NO.	
	espondent is only count			cols. H & K		cois.	National Rese	arch, Promotion,	& Consume	r Information Pro	grams	0581-0093	
(J)Average	(F)Total/(D)	Гotal = (E)Average	e (H)Total/(F)Total = (G)Average (K)T	otal/(I)Total =						DATE PREPA	RED
NOTE: The column	ns will calculate automa	tically. If Col. E's	response is so	mething othe	er than annually, i	.e., 1/6 years, list							
as "1/6" & decimal w	vill display.				-							July 9), 2020
	CATION OF REPORTING O	R RECORDKEEPING	REQUIREMENT	-		_			ANNUAL BU	RDEN			
						-		REPORTS				RECORDS	
													TOTAL
					FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	RECORD-
SECTION OF		DESCRIPTION			(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS
REGS.					so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)
(4)		(5)			(0)		RESPONDENT	(5)	(0)	(1)		KEEPER	
(A)		(B)			(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)
	REFERENDU	M BALLOT (o	cont'd.)			0.00	0.00	0.00	0.00	0.00			0.00
1218.105	Blueberry (Offic	cial Referendur	n Ballot)		SC-261	1,653.00	0.20	330.60	0.25	82.65			0.00
1205.30	Cotton (Continu B, C, & D)	ance Referendu	um) (Attach	ments A,	CN-100	40,888.00	0.20	8,177.60	0.10	817.76			0.00
1150.207	Dairy (Continua placeholder for futur		m) (Burden h	our is a	DA-21	0.00	0.00	0.00	0.00	1.00			0.00
1160.501	Fluid Milk (Con a placeholder for fut		endum) (Bu	rden hour is	DA-21-R	0.00	0.00	0.00	0.00	1.00			0.00
1250.200207	Eggs (Registrati hour is a placeholder	on, Ballot, and r for future use.)	Certificatio	ON) (Burden	LP-1	0.00	0.00	0.00	0.00	1.00			0.00
1219.104(c)	Hass Avocados	(Official Refer	endum Bal	lot)	AVO-ORB	5,200.00	0.13	676.00	0.25	169.00			0.00
1219.104(c)	Hass Avocados	(Referendum F	Registration	l)	SC-326	5,200.00	0.13	676.00	0.25	169.00			0.00
1212.81	Honey (Official	Referendum B	allot)		HON-ORB	150.00	0.20	30.00	0.25	7.50			
1206.71	Mangos (Officia	l Referendum	Ballot)		MAN-ORB	100.00	0.20	20.00	0.25	5.00			0.00

REPRODUCE LOCA	LLY. Include form number and date on all reproductions.	SUN	MARY OF INFO	RMATION COLLEC	TION				Pad	e 8 of 27
	SUBTOTAL			1.06	9,910.20	1.35	1,253.91	0.00		0.00

REPRODUCE LO	CALLY. Include form	n number a	nd date on all r	eproductions.		SUN	MARY OF INFO	RMATION COLLEC	TION				Paç	e 9 of 27
INSTRUCTIONS: recordkeeping requir							ing and cols.	TITLE OF INFOR	MATION COLLECTION	ON DOCUMEN	т		OMB NO.	
(D) α /or (I) = 13a (r					cols. H & K		COIS.	National Rese	arch, Promotion, a	& Consume	r Information Pro	grams	0581-0093	
	(F)Total/	(D)Total :	= (E)Average	(H)Total/(F)Total = (G	Average (K)T	otal/(I)Total =							
(J)Average NOTE: The column	ns will calculate aut	omatically	7. If Col. E's	response is so	mething othe	r than annually, i.	.e., 1/6 years, list						DATE PREPA	RED
as "1/6" & decimal v	will display.	5			0								July 9	, 2020
IDENTIFI	ICATION OF REPORTIN	NG OR REC	ORDKEEPING	REQUIREMENT			-			ANNUAL BU	RDEN			
							-		REPORTS				RECORDS	
														TOTAL
						FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	RECORD-
SECTION OF			DESCRIPTION			(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS
REGS.						so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)
								RESPONDENT					KEEPER	
(A)			(B)			(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)
	REFERENI	DUM BA	ALLOT (o	cont'd.)			0.00	0.00	0.00	0.00	0.00			0.00
1209.302	Mushrooms	(Official	l Referend	um Ballot)		SC-229	125.00	0.20	25.00	0.25	6.25			0.00
1222.105	Paper (Offici	ial Refei	rendum Ba	llot)		PAP-ORB	70.00	0.14	9.80	0.25	2.45			0.00
1216.105	Peanuts (Off	icial Re	ferendum I	Ballot)		SC-258	7,200.00	0.20	1,440.00	0.25	360.00			0.00
1215.502	Popcorn (Off	ficial Re	eferendum	Ballot)		POP-ORB	23.00	0.33	7.67	0.25	1.92			0.00
1207.362	Potatoes (Of	ficial Re	eferendum	Ballot)		POT-ORB	4,000.00	0.11	444.40	0.25	111.10			0.00
1217.105	Softwood Lu	ımber (C	Official Re	ferendum E	Ballot)	SWL-ORB	255.00	0.14	35.70	0.25	8.93			0.00
1221.130	Sorghum (Ba	allot)				LP-379	8,300.00	0.20	1,660.00	0.10	166.00			0.00
1220.615(b)	Soybeans (B placeholder for) (Burden ho	ur is a	LP-49	0.00	0.00	0.00	0.00	1.00			0.00
1210.363	Watermelon	(Officia	ll Referend	um Ballot)		WAT-ORB	1,100.00	0.13	137.50	0.25	34.38			0.00
		melon (Official Referendum Ballot) SUBTOTAL						1.45	3,760.07	1.85	692.02	0.00		0.00

REPRODUCE LOCA	LLY. Include form numbe	er and date on all 1	reproductions.		SUN	MARY OF INFO	RMATION COLLEC	TION				Page	10 of 27
INSTRUCTIONS: U	se this form when a sing	le information o	collection doci	ument involv	es multiple report	ing and	TITLE OF INFOR			IT.		OMB NO.	
	nents. The totals of the pondent is only counted	once); cols. F 8	a I = 13b;	cols. H & K	= 13c.	cols.	National Rese	arch, Promotion,	& Consume	r Information Pro	ograms	0581-0093	
(J)Average NOTE: The columns	(F)Total/(D)Tot will calculate automatica	., .)Average (K)To r than annually, i.	.,						DATE PREPA	RED
as "1/6" & decimal wil		5	1	0	5,	, <u>,</u> ,						July 9	, 2020
IDENTIFICA	TION OF REPORTING OR R	ECORDKEEPING	REQUIREMENT	-		-			ANNUAL BU	RDEN		•	
						-		REPORTS				RECORDS	
													TOTAL
					FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	RECORD-
SECTION OF		DESCRIPTION	1		(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS
REGS.					so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)
							RESPONDENT					KEEPER	
(A)		(B)			(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
	REQUEST FOR	REFERENI	DUM			0.00	0.00	0.00	0.00	0.00			
1220.620	Soybeans (Reques years)	t for Referen	dum) (Used	every 5	LP-51-1	100,000.00	0.20	20,000.00	0.10	2,000.00			0.00
	APPLICATION A FOR PRODUCE of Exemption issue	R OR IMPC	DRTER (C	ertificate		0.00	0.00	0.00	0.00	0.00			0.00
1218.53	Blueberry (Applica Assessment)	ation for Exe	emption from	m	BLU-AAE	150.00	1.00	150.00	0.25	37.50			0.00
1205.520	Cotton (Applicatic Assessment on Im of Imported Produ	ported Cotto			No Form Number	36.00	1.00	36.00	0.50	18.00			0.00
1205.510	Cotton (Applicatic on Imported Cotto Products)				No Form Number	28.00	1.00	28.00	0.50	14.00			0.00
1250.348 & .530	Eggs (Certificate c Form Number Ass	of Laying He igned and Na	ns Exempti ame of Fori	on) m Revised	LP-3	40.00	1.00	40.00	0.17	6.64			0.00
1212.53(c)	Honey (Applicatio	on for a Certi	ficate of Ex	kemption)	HON-AAE	50.00	1.00	50.00	0.25	12.50			0.00
			SU	BTOTAL			5.20	20,304.00	1.77	2,088.64	0.00		0.00

REPRODUCE LOO	CALLY. Include form numb	er and date on all r	eproductions.		SUN	IMARY OF INFO	RMATION COLLEC	TION				Page	11 of 27
	Use this form when a sing rements. The totals of the					ing and cols.	TITLE OF INFOR		ON DOCUMEN	IT		OMB NO.	
	espondent is only counted			ls. H & K =		cois.	National Rese	arch, Promotion,	& Consume	r Information Pro	ograms	0581-0093	
	ns will calculate automatic	., .	(H)Total/(F)T response is somet		0							DATE PREPA	RED
as "1/6" & decimal w	vill display.											July 9	, 2020
IDENTIFIC	CATION OF REPORTING OR I	RECORDKEEPING	REQUIREMENT	_		-			ANNUAL BU	RDEN			
						-		REPORTS				RECORDS	
													TOTAL
					FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	RECORD-
SECTION OF		DESCRIPTION	,		(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS
REGS.					so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)
							RESPONDENT					KEEPER	
(A)		(B)			(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)
_	APPLICATION FOR PRODUCE					0.00	0.00	0.00	0.00	0.00			0.00
1206.43	Mangos (Applicat Exemption)	tion for a Cert	ificate of	Ν	MAN-AAE	10.00	1.00	10.00	0.25	2.50			0.00
1209.52	Mushrooms (App Exemption)	lication for a (Certificate of	Ν	MUS-AAE	75.00	1.00	75.00	0.25	18.75			0.00
1222.53	Paper (Application Assessment)	n for Exempti	on from	Р	PAP-AAE	2,000.00	1.00	2,000.00	0.25	500.00			0.00
1215.300	Popcorn (Applicat Exemption)	tion for a Cer	tificate of	Р	POP-AAE	20.00	1.00	20.00	0.25	5.00			0.00
1217.53	Softwood Lumber Assessment)	r (Application	for Exemptio	on from S	SWL-AAE	773.00	1.00	773.00	0.25	193.25			0.00
	STATUS OF CE	RTIFICATI	ON OF NON	I-		0.00	0.00	0.00	0.00	0.00			0.00
	PRODUCER ST					0.00	0.00	0.00	0.00	0.00			0.00
1250.314	Beef (Application Certifiy Non-Prod	ı (Request) foi lucer Status) -	Use of a Star - NEW	mp to L	LP-8	5.00	1.00	5.00	0.33	1.65			0.00
			SUBT	TOTAL			6.00	2,883.00	1.58	721.15	0.00		0.00

REPRODUCE LOO	CALLY. Include form nu	mber and date on all	reproductions.		SUN	MARY OF INFO	RMATION COLLEC	TION				Page	12 of 27
	Use this form when a s						TITLE OF INFOR	MATION COLLECTION	ON DOCUMEN	IT		OMB NO.	
	ements. The totals of t espondent is only coun			cols. H & K		cols.	National Daga	arch, Promotion,	^e Concurre	r Information Dra		0581-0093	
	(F)Total/(D)	Total = (E)Averag	e (H)Total/(F)Total = (G)Average (K)T	otal/(I)Total =	National Rese	arch, Promotion,	& Consume	information Pro	ograms		
(J)Average	ns will calculate automa					.,						DATE PREPA	RED
as "1/6" & decimal w		iticality. If Coll 1.3	response is se	incuing our	i than annually, i.	c., 1/0 years, nse						Iuly 9), 2020
IDENTIFIC	CATION OF REPORTING C					-			ANNUAL BU	RDEN		July 5	, 2020
								REPORTS				RECORDS	
													TOTAL
	I				FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	RECORD-
SECTION OF		DESCRIPTIO	N		(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS
REGS.					so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)
							RESI ONDENT					REFER	
(A)		(B)			(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)
	STATUS OF C PRODUCER S			ON-		0.00	0.00	0.00	0.00	0.00			0.00
1250.314	Beef (Certificat Reseller Stamp)				LP-30	51.00	1,040.00	53,040.00	0.01	424.32			0.00
1260.314	Beef (Certificat Reseller)) For	ion of Non-Pro rm Number As	ducer Statu signed	s (For the	LP-11	1,500.00	36.00	54,000.00	0.03	1,620.00			0.00
1280.407	Lamb (Certifica Seller))	tion of Non-Ro	oducer Statu	is (For the	LP-78	3,318.00	12.00	39,816.00	0.03	1,194.48			0.00
1220.241	Soybeans (State Producer Status		ication of N	on-	LP-48	20.00	1.00	20.00	0.03	0.67			0.00
	APPLICATIO letter submitted					0.00	0.00	0.00	0.00	0.00			0.00
1218.53	Blueberry (Req	uest letter for r	eimburseme	ent)	No Form	45.00	1.00	45.00	0.25	11.25			0.00
1212.53(e)	Honey (Applica Assessment)	tion for Reimb	oursement of	f	HON-AFR	30.00	1.00	30.00	0.25	7.50			0.00
1206.43	Mangos (Applic Assessment)	cation for Reim	lbursement	of	MAN-AFR	10.00	1.00	10.00	0.25	2.50			0.00
			SU	BTOTAL			1,092.00	146,961.00	0.85	3,260.72	0.00		0.00

REPRODUCE LOC	ALLY. Include form nu	ımber and date on all r	eproductions.		SUN	MARY OF INFO	RMATION COLLEC	TION				Page	13 of 27
INSTRUCTIONS: U							TITLE OF INFOR	MATION COLLECTION		ІТ		OMB NO.	
recordkeeping require (D) &/or (I) = 13a (res	ments. The totals of spondent is only cour	the figures in cols. s nted once); cols. F &	hould be ente I = 13b;	red in item 1 cols. H & K		cols.	National Rese	arch, Promotion, d	& Consume	r Information Pro	grams	0581-0093	
(J)Average)Total = (E)Average			, , , , , , , , , , , , , , , , , , , ,	.,						DATE PREPA	RED
NOTE: The columns as "1/6" & decimal wi		atically. If Col. E's	response is so	mething othe	er than annually, i.	e., 1/6 years, list						July 9	, 2020
IDENTIFIC	ATION OF REPORTING	OR RECORDKEEPING	REQUIREMENT						ANNUAL BU	RDEN		, buly b	,
								REPORTS				RECORDS	
													TOTAL
					FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	RECORD-
SECTION OF		DESCRIPTION			(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS
REGS.	ļ				so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)
							RESPONDENT					KEEPER	
(A)		(B)			(C)	,	(E)	(F)	(G)	(H)	(I)	(J)	(К)
	APPLICA	TION FOR RE	EFUND (co	ont'd)		0.00	0.00	0.00	0.00	0.00			
1209.52	Mushrooms (In Assessment)	nporter Applicat	ion for Ref	und of	MUS-AFR	10.00	1.00	10.00	0.25	2.50			0.00
1222.53	Paper (Applica	tion for Refund	of Assessm	ient Paid)	PAP-AFR	10.00	1.00	10.00	0.25	2.50			0.00
1217.53	Softwood Lum Assessment Pai	ber (Application id)	for Refund	l of	SWL-AFR	1.00	1.00	1.00	0.25	0.25			0.00
1210.520	Watermelon (R	equest letter for	reimburse	ment)	No Form	0.00	1.00	0.00	0.25	0.00			0.00
		KEMPTION RH Ill commodities; ti				0.00	0.00	0.00	0.00	0.00			
1260.302	Beef (Organic I	Exemption Requ	iest)		AMS-15	70.00	1.00	70.00	0.25	17.50			0.00
1218.53	Blueberry (Org	anic Exemption	Request)		AMS-15	200.00	1.00	200.00	0.25	50.00			0.00
1205.519	Cotton (Organi	c Exeption Requ	iest)		AMS-15	1.00	1.00	1.00	0.25	0.25			0.00
1150.157	Dairy (Organic	Exemption Req	uest)		AMS-15	1,490.00	1.00	1,490.00	0.25	372.50			0.00
			SU	BTOTAL			8.00	1,782.00	2.00	445.50	0.00		0.00

REPRODUCE LOC	CALLY. Include	form number a	nd date on all 1	reproductions.		SUN	IMARY OF INFO	RMATION COLLEC	TION				Page	14 of 27
INSTRUCTIONS:	Use this form v	l vhen a single	l information o	L collection doc	l ument involv	es multiple report		TITLE OF INFOR			IT		OMB NO.	
recordkeeping require (D) &/or (I) = 13a (re					ered in item 1 cols. H & K		cols.	National Rese	arch, Promotion,	& Consume	r Information Pro	ograms	0581-0093	
	(F)T(otal/(D)Total	= (E)Average	e (H)Total/((F)Total = (G	Average (K)T						0	0301 0033	
(J)Average NOTE: The column			., .			, , , , ,							DATE PREPA	RED
as "1/6" & decimal w		automaticany	y. II COI. E 3	response is se	Jinetining out	ci tildii diinddiiy, i.	.c., 1/0 years, nst							
							1						July 9	, 2020
	CATION OF REPO	RTING OR REC		REQUIREMENT	r 1		-			ANNUAL BU	RDEN			
									REPORTS				RECORDS	
														TOTAL
						FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	RECORD-
SECTION OF REGS.			DESCRIPTION	1		(If "none" so state)	RESPONDENTS	RESPONSES	RESPONSES (Col. D x E)	PER	HOURS (Col. F x G)	RECORD-	HOURS PER RECORD-	(Col. I x J)
REG3.						su sidie)		RESPONDENT	(COLD X E)	RESPONSE	(COL F X G)	REEPERS	KEEPER	(COLTX 3)
(A)			(B)	1		(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)
	ORGAN (cont'd.)	IC EXEM	PTION RI	EQUEST I	FORM		0.00	0.00	0.00	0.00	0.00			
1250.350	Eggs (Org	ganic Exen	nption Req	uest)		AMS-15	20.00	1.00	20.00	0.25	5.00			0.00
1160.215	Fluid Mil Request)	k (Dairy Pr	rocessor) ((Organic Ex	emption	AMS-15	25.00	1.00	25.00	0.25	6.25			0.00
1219.202	Hass Avo	cados (Org	ganic Exem	nption Requ	uest)	AMS-15	300.00	1.00	300.00	0.25	75.00			0.00
1212.53(b)	Honey (O	rganic Exe	emption Re	equest)		AMS-15	20.00	1.00	20.00	0.25	5.00			0.00
1280.406	Lamb (Or	ganic Exer	nption Rec	quest)		AMS-15	40.00	1.00	40.00	0.25	10.00			0.00
1206.202	Mangos (Organic Ex	cemption R	Request)		AMS-15	100.00	1.00	100.00	0.25	25.00			0.00
1209.252	Mushroor	ns (Organi	c Exemptio	on Request)	AMS-15	120.00	1.00	120.00	0.25	30.00			0.00
1222.53	Paper (Or	ganic Exer	nption Rec	luest)		AMS-15	1.00	1.00	1.00	0.25	0.25			0.00
1216.56	Peanuts (Organic Ex	emption R	lequest)		AMS-15	0.00	1.00	0.00	0.25	0.00			0.00
				SU	BTOTAL	,		9.00	626.00	2.25	156.50	0.00		0.00

REPRODUCE LOC	CALLY. Include	form number a	nd date on all i	reproductions.		SUN	MARY OF INFO	RMATION COLLEC	TION				Page	15 of 27
													!	
INSTRUCTIONS:	Use this form v	when a single	information of	collection doc	ument involv	es multiple report		TITLE OF INFOR	MATION COLLECTION		іт		OMB NO.	
recordkeeping require (D) &/or (I) = 13a (re					cols. H & K		cols.	National Rese	arch, Promotion,	& Consume	r Information Pro	ograms	0581-0093	
	- (F)T(- ntal/(D)Total	= (F)Average	e (H)Total/((F)Total = (G)Average (K)T	otal/(I)Total =					0		
(J)Average													DATE PREPA	RED
NOTE: The columns as "1/6" & decimal w		automatically	y. If Col. E's	response is so	omething othe	er than annually, i	e., 1/6 years, list							
						1	1						July 9	, 2020
IDENTIFIC	ATION OF REPO	RTING OR REC	ORDKEEPING	REQUIREMENT	r 		-			ANNUAL BU	RDEN			
							-		REPORTS				RECORDS	
													1	TOTAL
						FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	RECORD-
SECTION OF			DESCRIPTION	1		(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS
REGS.	_					so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)
	-							RESPONDENT					KEEPER	
(A)			(B)			(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)
	ORGANI (cont'd.)	IC EXEM	PTION R	EQUEST I	FORM		0.00	0.00	0.00	0.00	0.00			0.00
1215.300	Popcorn (Organic E	xemption I	Request)		AMS-15	2.00	1.00	2.00	0.25	0.50			0.00
1230.102	Pork (Org	ganic Exem	ption Req	uest)		AMS-15	18.00	1.00	18.00	0.25	4.50			0.00
1207.514	Potatoes (Organic E	xemption l	Request)		AMS-15	150.00	1.00	150.00	0.25	37.50			0.00
1217.53	Softwood	Lumber (C	Organic Ex	cemption R	equest)	AMS-15	1.00	1.00	1.00	0.25	0.25			0.00
1221.117	Sorghum	(Organic E	Exemption	Request)		AMS-15	10.00	1.00	10.00	0.25	2.50			0.00
1220.302	Soybeans	(Organic I	Exemption	Request)		AMS-15	100.00	1.00	100.00	0.25	25.00			0.00
1210.516	Watermel	Soybeans (Organic Exemption Request) Watermelon (Organic Exemption Request)				AMS-15	10.00	1.00	10.00	0.25	2.50			0.00
	ORGAN	IC EXEM	PTION	FOR SEL	LER		0.00	0.00	0.00	0.00	0.00			
1260.302	Beef (Cer Seller) 1		Organic Ex	cemption	For the	LP-29	25.00	10.00	250.00	0.10	25.00			0.00
				SU	BTOTAL			17.00	541.00	1.85	97.75	0.00		0.00

REPRODUCE LOCA	LLY. Include	form number a	hd date on all r	eproductions.		SUM	IMARY OF INFO	RMATION COLLEC	TION				Page	16 of 27
				-									i uge	10 01 21
INSTRUCTIONS: U	se this form w	when a single	information c	ollection doci	iment involve	es multiple reporti	ng and	TITLE OF INFOR	MATION COLLECTION	ON DOCUMEN	Т		OMB NO.	
recordkeeping requiren							cols.							
(D) $\&/or$ (I) = 13a (resp					cols. H & K		cois.	National Rese	arch, Promotion,	& Consume	r Information Pro	ograms	0581-0093	
		5	<i>,,</i>	· ·								•		
	(F)To	otal/(D)Total	= (E)Average	(H)Total/(F)Total = (G)	Average (K)To	otal/(I)Total =							
(J)Average	(1)1((D)1000	(L) Trendge	(11)10(01)((0)	(11)11							DATE PREPA	RED
NOTE: The columns	will calculate	automatically	v. If Col. E's	response is so	mething othe	r than annually, i.	e., 1/6 vears, list							
as "1/6" & decimal will		untoinaticun		coponise is so	incluing our	,							July 9	, 2020

IDENTIFIC	CATION OF REPORT	TING OR REC	ORDKEEPING	REQUIREMENT						ANNUAL BU	RDEN			
									REPORTS				RECORDS	
														TOTAL
						FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	RECORD-
SECTION OF			DESCRIPTION			(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS
REGS.						so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)
								RESPONDENT					KEEPER	
(A)			(B)			(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
	APPLICA ORGANIZ			IFICATIO	N OF		0.00	0.00	0.00	0.00	0.00			0.00
1260.540(a)	Beef (Produ Organicatic			or Certifica	tion of	LP-25	5.00	1.00	5.00	0.50	2.50			0.00
1260.540(b)	Beef (Impo Includes a le nominate im	tter from a	er requesting ssociation re	g certificatic equesting ap	on. proval to	No Form	1.00	1.00	1.00	0.50	0.50			0.00
1205.341	Cotton (Let Organization Promotion A	n for purpos				No Form	1.00	1.00	1.00	2.00	2.00			0.00
1150.273	Dairy (Proc future use.)		Irden hour	is a placeh	older for	No Form	0.00	0.00	0.00	0.00	1.00			0.00
1160.114	Dairy (Proc future use.)	cessor) (Bu	urden hour i	s a placehol	der for	No Form	0.00	0.00	0.00	0.00	1.00			0.00
1150.153	Dairy Produ Initial or Co Regional D Nutrition E	ontinued (airy Produ	Qualification uct Promot	on of State	or	DA-15-CG	66.00	1.00	66.00	3.00	198.00			0.00
1250.356	Eggs (Egg Assigned	Certificati	ion Reques	t) Form	Number	LP-4	5.00	0.20	1.00	1.00	1.00			0.00

REPRODUCE LOCA	LLY. Include form number and date on all reproductions.	SUM	MARY OF INFO	RMATION COLLEC	TION				Page	17 of 27
	SUBTOTAL			4.20	74.00	7.00	206.00	0.00	l i ugi	0.00

REPRODUCE LOO	CALLY. Include	form number c	nd date on all r	reproductions.		SUN	MARY OF INFO	RMATION COLLEC	TION				Page	18 of 27
INSTRUCTIONS: recordkeeping requir							ing and cols.	TITLE OF INFOR	MATION COLLECTIO	ON DOCUMEN	т		OMB NO.	
(D) &/or (I) = $13a$ (re					cols. H & K		cois.	National Rese	arch, Promotion &	& Consumer	Information Pro	grams	0581-0093	
	(F)To	otal/(D)Total	= (E)Average	e (H)Total/(F)Total = (G)Average (K)T	otal/(I)Total =						DATE PREPA	
(J)Average NOTE: The column as "1/6" & decimal w		automaticall	y. If Col. E's	response is so	mething othe	er than annually, i	e., 1/6 years, list							
	CATION OF REPO	RTING OR REC	ORDKEEPING	REQUIREMENT						ANNUAL BU	RDEN		July S	9, 2020
									REPORTS				RECORDS	
													1	
														TOTAL
SECTION OF	_		DESCRIPTION			FORMS NO (S)	NO. OF RESPONDENTS	NO OF RESPONSES	TOTAL ANNUAL RESPONSES	HOURS	TOTAL	NO. OF RECORD-	ANNUAL HOURS PER	RECORD-
REGS.			DESCRIPTION			(If "none" so state)	RESPONDENTS	PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)
								RESPONDENT				-	KEEPER	
(A)			(B)	1		(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)
		PPLICATION FOR CERTIFICATION OF RGANIZATION (cont'd.) oney (Application for Certification of					0.00	0.00	0.00	0.00	0.00			
1212.42	Honey (A Organizat		for Certific	cation of		HON-ACO	10.00	1.00	10.00	0.50	5.00			0.00
1280.206	Lamb (Ap Organizat		for Certifici	iation of		LP-82	5.00	1.00	5.00	0.50	2.50			0.00
1216.70	Peanuts (A Organizat		n for Certifi	iciation of	Peanut	SC-265	24.00	1.00	24.00	0.50	12.00			0.00
1221.107			on for Certi Sorghum B		Make	LP-27	5.00	1.00	5.00	0.50	2.50			0.00
1221.128	Sorghum Sorghum	(Applicatio Board) I	on for Qual Form Numb	lification of ber Assigne	f State ed	LP-31	5.00	1.00	5.00	0.50	2.50			0.00
	NOMINA	TIONS A	ND SELE	CTIONS			0.00	0.00	0.00	0.00	0.00			0.00
1260.143(a-d)	· · ·		f Cattle Pro the Beef Bo		mporters	LP-26 or LP-26-1	80.00	1.00	80.00	0.50	40.00			0.00
1218.41	Blueberry	(State Reg	gion Nomir	nee Applic	ation)	BLU-NAF	18.00	1.00	18.00	0.50	9.00			0.00
1218.41	Blueberry	(Council	Member Ba	allot)		BLU-NBF	18.00	1.00	18.00	0.50	9.00			0.00
1150.133	Dairy (No to Serve o		of Milk Pro y Board)	oducers or I	mporters	DA-19	31.00	1.00	31.00	0.50	15.50			0.00

REPRODUCE LOCA	LLY. Include form number and date on all reproductions.	SUM	MARY OF INFO	RMATION COLLEC	TION				Page	19 of 27
	SUBTOTAL			9.00	196.00	4.50	98.00	0.00		0.00

REPRODUCE LO	CALLY. Include form n	umber and date on all	reproductions.		SUN	IMARY OF INFO	RMATION COLLEC	TION				Page	20 of 27
	Use this form when a ements. The totals of					ing and cols.	TITLE OF INFOR	MATION COLLECTION	ON DOCUMEN	IT		OMB NO.	
	espondent is only cou			cols. H & K			National Rese	arch, Promotion,	& Consume	r Information Pro	ograms	0581-0093	
(J)Average	(F)Total/(D)Total = (E)Averag	e (H)Total/(F)Total = (G)Average (K)T	otal/(I)Total =						DATE PREPA	RED
	ıs will calculate autom vill display	natically. If Col. E's	response is so	mething othe	er than annually, i.	e., 1/6 years, list							2020
	1 5											July 9	, 2020
	CATION OF REPORTING								ANNUAL BU	RDEN			
						-		REPORTS				RECORDS	
													TOTAL
					FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	RECORD-
SECTION OF REGS.		DESCRIPTIO			(If "none" so state)	RESPONDENTS	PER	RESPONSES (Col. D x E)	PER	HOURS (Col. F x G)	RECORD-	HOURS PER RECORD-	KEEPING HOURS (Col. I x J)
					30 3440)		RESPONDENT	(001. D X E)	REDI ONDE	(001.1 × 0)	REEF ERG	KEEPER	(001.1 × 0)
(A)		(B)	-		(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)
	NOMINATIO	NOMINATIONS AND SELECTIONS (con				0.00	0.00	0.00	0.00	0.00			
1160.202		NOMINATIONS AND SELECTIONS (cont' Fluid Milk (Nomination of Milk Processors to Serve on the Fluid Board)				15.00	1.00	15.00	0.50	7.50			0.00
1250.328(b)	Eggs (Nominat other year)	tion Form) (Area	is alternate fo	rms every	AEB-1	3.00	1.00	3.00	0.50	1.50			0.00
1250.328(b)	Eggs (Nominat other year)	tion Form) (Area	s alternate fo	orms every	AEB-2	3.00	1.00	3.00	0.50	1.50			0.00
1219.33		s (Domestic) (A the Hass Avoca		nt of	AVO-OPS	40.00	0.33	13.20	0.25	3.30			0.00
1219.33	Hass Avocados Ballot)	s (Domestic) (O	fficial Produ	ıcer	AVO-OPB	1,000.00	0.33	330.00	0.25	82.50			0.00
1219.33		s (Importer) (An ass Avocado Bo		t of Open	AVO-OIS	20.00	0.33	6.60	0.25	1.65			0.00
1219.33	Hass Avocado	s (Official Impo	rter Ballot)		AVO-OIB	100.00	0.33	33.00	0.25	8.25			0.00
1219.33	Hass Avocado	lass Avocados (Official Importer Ballot) lass Avocados (Notice) NEW				40.00	1.00	40.00	0.10	4.00			0.00
1219.33	Hass Avocados Information)	s (Producer (Imj · NEW	oorter) Nom	inee	AVO-NIF	40.00	1.00	40.00	0.25	10.00			0.00
			SU	BTOTAL			6.32	483.80	2.85	120.20	0.00		0.00

REPRODUCE LOCA	LLY. Include	form number a	nd date on all 1	reproductions.		SUM	IMARY OF INFO	RMATION COLLEC	TION				Page	21 of 27
INSTRUCTIONS: U	co this form u	when a cingle	information (collection dog	umont involv	c multiple reporti	ng and						OMB NO	
recordkeeping requirer	nents. The to	tals of the fig	ures in cols. s	should be ente			cols.							
(D) &/or (I) = 13a (res	pondent is on	ly counted on	ce); cols. F 8	α I = 13b;	cols. H & K	= 13c.		National Rese	arch, Promotion,	& Consume	r Information Pro	grams	0581-0093	
	(F)To	otal/(D)Total =	= (E)Average	e (H)Total/(F)Total = (G	Average (K)To	otal/(I)Total =							
(J)Average NOTE: The columns	will calculate	automatically	, If Col E's	rosponso is so	mothing othe	r than annually i	o 1/6 years list						DATE PREPA	RED
as "1/6" & decimal wil		automatically	/. II COI. E S	response is so	ineuning oure	i tildii dillitidily, i.	e., 1/0 years, list						July 9	, 2020
IDENTIFICA	TION OF REPO	RTING OR REC	ORDKEEPING	REQUIREMENT						ANNUAL BU	RDEN			
									REPORTS				RECORDS	
														TOTAL
-						FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	RECORD-
SECTION OF			DESCRIPTION	1		(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS
REGS.						so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)
														(,
								RESPONDENT					KEEPER	
				I										
(A)			(B)			(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)
	NOMINA	ATIONS A	ND SELE	ECTIONS ((cont'd.)		0.00	0.00	0.00	0.00	0.00			
1219.33	Hass Avo Eligibility	cados (Dec 7) NEW	laration of	Producer		AVO-PEF	24.00	1.00	24.00	0.25	6.00			0.00
1219.33	Hass Avo NEW	cados (Dec	laration of	Importer E	Eligibility)	AVO-IEF	16.00	1.00	16.00	0.25	4.00			0.00
1240.32(b)	Honey (N Board)	omination	for Appoir	ntment to th	e Honey	HON-NOM	25.00	1.00	25.00	0.50	12.50			0.00
1280.202	Lamb (No Board)	omination f	or Appoin	tment to the	e Lamb	LP-84	10.00	1.00	10.00	0.50	5.00			0.00
1206.31						MAN-NOM	65.00	0.33	21.45	0.25	5.36			0.00
1206.31		angos (Nomination to Serve on Mango Board ree languagesEnglish, Spanish, & Portugues angos (Nomination Ballot for domestic produc st handlers, & importers)				MAN-BAL	65.00	0.33	21.45	0.25	5.36			0.00
1209.31	Mushroon	ns (Nomina	ation Form	ı)		MUS-NFC	18.00	0.33	5.94	0.50	2.97			0.00
1209.31	Mushroon	ns (Mail B	allot)			MUS-NBF	18.00	0.33	5.95	0.50	2.97			0.00
				SU	BTOTAL			5.32	129.79	3.00	44.17	0.00		0.00

REPRODUCE LOO	CALLY. Include form num	ber and date on all	reproductions.		SUN	MARY OF INFO	RMATION COLLEC	TION				Page	22 of 27
	Use this form when a si						TITLE OF INFOR	MATION COLLECTIO		IT		OMB NO.	
	rements. The totals of the espondent is only counter			red in item 1 cols. H & K		cols.	National Rese	arch, Promotion, d	& Consume	r Information Pro	ograms	0581-0093	
(J)Average	(F)Total/(D)T	'otal = (E)Averag	e (H)Total/(F)Total = (G)Average (K)T	otal/(I)Total =						DATE PREPA	RED
NOTE: The column	s will calculate automat	ically. If Col. E's	response is so	mething othe	er than annually, i.	e., 1/6 years, list							
as "1/6" & decimal w	viii display.											July 9	, 2020
IDENTIFIC	CATION OF REPORTING OF	RECORDKEEPING	REQUIREMENT			-			ANNUAL BU	RDEN			
						-		REPORTS				RECORDS	
													TOTAL
SECTION OF		DESCRIPTION	<u> </u>		FORMS NO (S) (If "none"	NO. OF RESPONDENTS	NO OF RESPONSES	TOTAL ANNUAL RESPONSES	HOURS	TOTAL	NO. OF RECORD-	ANNUAL HOURS PER	RECORD-
REGS.		DESCRIPTION			(If "none" so state)	RESPONDENTS	PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)
							RESPONDENT				HEEL ENG	KEEPER	(00.17.0)
(A)		(B)	1		(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)
	NOMINATION	IS AND SELF	ECTIONS ((cont'd.)		0.00	0.00	0.00	0.00	0.00			
63.101	Sheep Center (N Improvement Ce			al Sheep	LP-87	10.00	1.00	10.00	0.50	5.00			0.00
1222.41	Paper (Nominati Board)	on for Appoin	tment to the	e Paper	PAP-NOM	20.00	1.00	20.00	0.25	5.00			0.00
1222.41	Paper (SC Samp Form/Statement)		inee Backg	round	No Form Number	20.00	1.00	20.00	0.25	5.00			0.00
1216.41	Peanuts (No form voting at nomina		s for acclan	nation	No Form	40.00	0.33	13.20	0.50	6.60			0.00
1215.22	Popcorn (Nomin Serve on the Pop		orn Processo	ors to	SC-270	10.00	0.33	3.30	0.50	1.65			0.00
1230.31	Pork (Nominatio for Appointment Delegate Body)				LP-35	75.00	1.00	75.00	0.50	37.50			0.00
1207.322	Potatoes (Burder nomination meet		ation voting	g at	No Form	214.00	0.33	70.62	0.50	35.31			0.00
1217.41	Softwood Lumbe the Softwood Lu		n for Appoi	ntment to	SWL-NOM	50.00	1.00	50.00	0.25	12.50			0.00
			SU	BTOTAL			5.99	262.12	3.25	108.56	0.00		0.00

REPRODUCE LOCA	LLY. Include	form number a	nd date on all i	reproductions.		SUN	MARY OF INFO	RMATION COLLEC	TION				Page	23 of 27
													_	
NOT DUCTIONS IN	1. 6					1.1.1	. ,							
INSTRUCTIONS: U recordkeeping requiren							ing and cols.		MATION COLLECTIO		T			
(D) $\&/or$ (I) = 13a (res					cols. H & K		c013.	National Rese	arch, Promotion,	& Consume	r Information Pro	ograms	0581-0093	
	-											5		
(J)Average	(F)Tc	otal/(D)Total	= (E)Average	e (H)Total/	(F)Total = $(G$)Average (K)T	otal/(1)Total =						DATE PREPA	RED
NOTE: The columns as "1/6" & decimal wil		automatically	y. If Col. E's	response is so	omething othe	er than annually, i.	.e., 1/6 years, list						July 9	, 2020
		RTING OR REC	ORDKEEPING	REQUIREMEN	r		-			ANNUAL BU	RDEN			,
							-		REPORTS				RECORDS	
						FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	TOTAL RECORD-
							RESPONDENTS						-	
SECTION OF			DESCRIPTION			(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS
REGS.						so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)
								RESPONDENT					KEEPER	
(A)			(B)			(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)
	NOMINA	ATIONS A	ND SELE	ECTIONS	(cont'd.)		0.00	0.00	0.00	0.00	0.00			
1217.41		Lumber (S nd Form/St		Form (Noi	ninee	No Form Number	50.00	1.00	50.00	0.25	12.50			0.00
1221.101		ent to the S		hum Produ 3oard) Fo		LP-15	5.00	1.00	5.00	0.50	2.50			0.00
1220.203		(Nominati ent to the S		oean Produc oard)	cers for	LP-45R	30.00	1.00	30.00	0.50	15.00			0.00
1210.321		on (Burder n meeting)		lamation vo	oting at	No Form	250.00	0.33	82.50	0.50	41.25			0.00
	INFORM (Burden c		ORM FO ler OMB N	R NOMIN No. 0505-00		AD-755	741.00	1.00	741.00	0.50	370.50			0.00
1260.144, 1150.134, 1160.203, 1250.330, 1209.32, 1280.203, 1215.23, 1220.205, 1207.323, 1221.102, 1210.323, & 63.102	(Boards: Popcorn, Soybeans	Beef, Dain Pork, Pot	ry, Eggs, I atoes, She 1, & Wate	Agreement Lamb, Mus ep Center, rmelon) No	shrooms, o burden -	No Form	0.00	0.00	0.00	0.00	0.00	0.00		0.00
				SU	BTOTAL			3.33	167.50	1.75	71.25	0.00		0.00

REPRODUCE LOC	ALLY. Include	form number a	hd date on all r	eproductions.		SUN	MARY OF INFO	RMATION COLLEG	TION				Page 24 of 27				
													0				
INSTRUCTIONS: U								TITLE OF INFOR	RMATION COLLECTION	ON DOCUME	NT		OMB NO.				
recordkeeping require (D) &/or (I) = 13a (res					cols. H & K		cols.		L								
()()	•							National Rese	earch, Promotion,	& Consume	r Information Pro	ograms	0581-0093				
(J)Average	(F)Te	otal/(D)Total	= (E)Average	e (H)Total/((F)Total = (G)	Average (K)Te	otal/(I)Total =										
NOTE: The columns		automatically	y. If Col. E's	response is so	mething othe	r than annually, i.	e., 1/6 years, list						DATE PREPA	RED			
as "1/6" & decimal wi	ll display.												July 0	, 2020			
							1						July 9	, 2020			
IDENTIFIC	ATION OF REPO	RTING OR REC		REQUIREMENT	-					ANNUAL BU	IRDEN						
									REPORTS								
-														TOTAL			
						FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	RECORD-			
SECTION OF			DESCRIPTION			(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS			
REGS.						so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)			
								RESPONDENT					KEEPER				
(A)		•	(B)			(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)			
	RECORI	OKEEPIN	G REQUI	REMENT	S				0.00		0.00	0.00	0.00	0.00			
1218.61	Blueberry	Blueberry							0.00		0.00	1,607.00	0.50	803.50			
1205.338	Cotton	Cotton							0.00		0.00	304.00	0.25	76.00			
1150.172	Dairy (Pro	oducer)							0.00		0.00	600.00	0.20	120.00			
1160.402	Dairy (Pro	ocessor)							0.00		0.00	410.00	0.20	82.00			
1250.535	Eggs	Eggs							0.00		0.00	438.00	0.02	8.76			
1219.61	Hass Avocados								0.00		0.00	5,200.00	0.50	2,600.00			
	SUBTOTAL								0.00		0.00	8,559.00		3,690.26			
		I															

1240.51 Honey 10000 10000 10000 <th>REPRODUCE LOCA</th> <th colspan="5">RODUCE LOCALLY. Include form number and date on all reproductions.</th> <th>SUN</th> <th>MARY OF INFO</th> <th>RMATION COLLEC</th> <th>TION</th> <th></th> <th></th> <th></th> <th>Page</th> <th>25 of 27</th>	REPRODUCE LOCA	RODUCE LOCALLY. Include form number and date on all reproductions.					SUN	MARY OF INFO	RMATION COLLEC	TION				Page	25 of 27	
(a) 0 ward or out of unant of unit count																
National Research, Promotion & Consumer Information Programs (5781-0093 (5781-0093 NOTE: The colume submatically. If CoLEs response is something other than annually, i.e., 16 years, large so								cols.								
Initial (b) (b) (b) (b) (c) (c) (b) (c) (c) (b) (c) (c) (c) (c) (c) (c) (c) (c) (c) (c	(D) &/or (I) = 13a (res	spondent is only c	counted once);	cols. F &	. I = 13b;	cols. H & K	= 13c.		National Rese	arch. Promotion &	Consumer	Information Pro	orams			
ONArrange NOTE: The color later attornationally. If Col. Es response is something objet than annually, i.e., 16 years, lis as "Le" & decimal will display. INTE The color later attornationally. If Col. Es response is something objet than annually, i.e., 16 years, lis as "Le" & decimal will display. INTE The color later attornationally. If Col. Es response is something objet than annually, i.e., 16 years, lis as "Le" & decimal will display. Image: Interview of Record		(F)Total	I/(D)Total = (F))Average	(H)Total/	(F)Total = (G	Average (K)T	otal/(I)Total =					9	0581-0093		
<th automatically.="" be="" calular="" col.="" columns="" es="" if="" interv<="" interval="" is="" other="" response="" something="" td="" the="" to="" will=""><td colspan="6"></td><td>inverage (it)</td><td></td><td colspan="5"></td><td></td><td>RED</td></th>	<td colspan="6"></td> <td>inverage (it)</td> <td></td> <td colspan="5"></td> <td></td> <td>RED</td>							inverage (it)								RED
Image: contract to or RECORRECTION OF REPORTING OF REPORT OF CONTRACT TO TAKE AND			tomatically. If	Col. E's	response is so	omething othe	er than annually, i.	e., 1/6 years, list						DATE PREPARED		
DENTIFICATION OF REPORTING OF RECORDERINGT ANNUAL BURDEN PRECORDS Image: Control of REPORTING OF RECORDERING OF RECORDERING OF Image: Control of the con	as "1/6" & decimal wi	ll display.												July 0	2020	
$ \begin{array}{c c c c c c c c c c c c c c c c c c c $							1	1						July 9	, 2020	
$ \begin{array}{ c c c c c c c c c c c c c c c c c c c$	IDENTIFICA	ATION OF REPORTI	NG OR RECORD	KEEPING	REQUIREMEN	r •		-			ANNUAL BU	IRDEN				
Image: Note of the second								-		REPORTS				RECORDS		
SECTION OF DESCRIPTION (f) "mer" RESPONSES RESPONSES PER HOURS RECORD HOURS PER RESPONSE RESPONSE PER HOURS RESPONSE RESP															TOTAL	
REGS. Image: Control term in t							FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	RECORD-	
(A) (B) (C) (D) (E) (C) (D) (E) (D) (D) <td>SECTION OF</td> <td></td> <td>DES</td> <td>CRIPTION</td> <td></td> <td></td> <td>(If "none"</td> <td>RESPONDENTS</td> <td>RESPONSES</td> <td>RESPONSES</td> <td>PER</td> <td>HOURS</td> <td>RECORD-</td> <td>HOURS PER</td> <td>KEEPING HOURS</td>	SECTION OF		DES	CRIPTION			(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOURS	
(A) (B) (C) (D) (E) (C) (G) (G) <td>REGS.</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>so state)</td> <td></td> <td>PER</td> <td>(Col. D x E)</td> <td>RESPONSE</td> <td>(Col. F x G)</td> <td>KEEPERS</td> <td>RECORD-</td> <td>(Col. I x J)</td>	REGS.						so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)	
International conditional condition									RESPONDENT					KEEPER		
International conditional condition	(A)			(B)			(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)	
1240.51HoneyHoneyImage: Second secon			EEPING R	EQUI	REMENT	3				0.00		0.00	0.00	0.00	0.00	
1206.00Magos 1200.00 <th< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></th<>																
1206.00Magos 1200.00 <th< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></th<>																
1209.61 Mushrooms Image: Constraint of the constraint of th	1240.51	Honey								0.00		0.00	500.00	0.50	250.00	
1209.61 Mushrooms Image: Constraint of the constraint of th																
1209.61 Mushrooms Image: Constraint of the constraint of th		-														
1209.61 Mushrooms Image: Constraint of the constraint of th																
1209.61 Mushrooms Image: Constraint of the constraint of th	1206 60	Mangos								0.00		0.00	400.00	0.50	200.00	
Image: Marking Series (Marking Series (Marking)	1200.00	Widingos								0.00		0.00	400.00	0.50	200.00	
Image: Marking Series (Marking Series (Marking)																
Image: Marking Series (Marking Series (Marking)																
Image: Marking Series (Marking Series (Marking)																
1216.61 Peanuts Image: Constraint of the second secon	1209.61	Mushrooms								0.00		0.00	150.00	0.50	75.00	
1216.61 Peanuts Image: Constraint of the second secon																
1216.61 Peanuts Image: Constraint of the second secon																
1216.61 Peanuts Image: Constraint of the second secon	1222 71	Paper								0.00		0.00	2 200 00	0.50	1 100 00	
	1222.71	ruper								0.00		0.00	2,200.00	0.50	1,100.00	
	1216 61	Peanuts								0.00		0.00	7 200 00	0.50	3 600 00	
1215.61 Popcorn Image: Constraint of the second secon	1210.01	r cunuts								0.00		0.00	7,200.00	0.50	5,000.00	
1215.61 Popcorn 0.00 20.00 0.50 10.00																
1215.61 Popcorn 0.00 20.00 0.50 10.00																
	1215.61	Popcorn								0.00		0.00	20.00	0.50	10.00	
	- · ·															
SUBTOTAL 0.00 0.00 10,470.00 5,235.00					SU	BTOTAL				0.00		0.00	10,470.00		5,235.00	

REPRODUCE LOC	ALLY. Include fo	orm number a	nd date on all r	eproductions.		SUN	IMARY OF INFO	RMATION COLLEC	TION				Page	26 of 27
INSTRUCTIONS: U	Jse this form wh	hen a single i	information c	ollection doci	iment involv	es multiple reporti	ng and				JT		OMB NO.	
recordkeeping require (D) &/or (I) = 13a (re	ments. The tota	als of the figu	ures in cols. s	hould be ente		3 of OMB-83-1:	cols.		arch, Promotion &			grams	0581-0093	
(J)Average NOTE: The columns	will calculate a)Average (K)Te er than annually, i.							DATE PREPA	RED
as "1/6" & decimal wi	ill display.												July 9	, 2020
IDENTIFIC	ATION OF REPOR	TING OR REC	ORDKEEPING	REQUIREMENT						ANNUAL BU	RDEN		-	
									REPORTS	RECORDS				
														TOTAL
						FORMS NO (S)	NO. OF	NO OF	TOTAL ANNUAL	HOURS	TOTAL	NO. OF	ANNUAL	RECORD-
SECTION OF			DESCRIPTION			(If "none"	RESPONDENTS	RESPONSES	RESPONSES	PER	HOURS	RECORD-	HOURS PER	KEEPING HOUR
REGS.						so state)		PER	(Col. D x E)	RESPONSE	(Col. F x G)	KEEPERS	RECORD-	(Col. I x J)
(A)			(B)			(C)	(D)	RESPONDENT (E)	(F)	(G)	(H)	(I)	KEEPER (J)	(K)
(7)	KEUURD	KEEPIN	G KEQUI	REMENT	3	(0)	(0)	(Ľ)	0.00	(0)	0.00	0.00	0.00	0.0
1207.351	Potatoes								0.00		0.00	4,000.00	0.50	2,000.0
1217.71	Softwood Lumber							0.00		0.00	1,400.00	0.50	700.0	
1221.124 & .125	Sorghum								0.00		0.00	35,022.00	0.10	3,502.2
1220.312 & .228	Soybeans								0.00		0.00	5,010.00	0.11	551.1
1210.351	Watermelon								0.00		0.00	2,000.00	0.50	1,000.0
	NOTE: O Beef & Por the Packers	rk progran	ns are alrea	dy approve	s for the ed under				0.00		0.00	0.00	0.00	0.0

REPRODUCE LOCALLY. Include form number and date on all reproductions.	SUMMAR	RY OF INFORMATION CC	DLLECTION			Page	27 of 27
SUBTOTAL			0.00	0.00	47,432.00		7,753.30